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1- 

 

For what purpose has the 'Nabhamitra' 

instrument developed by ISRO been 

developed? 

(a) To improve the safety of aircraft 

during air travel 

(b) To improve the safety of fishermen 

during sea voyages 

(c) To deal with the problem of fog 

during train journeys. 

(d) none of these 

 1- 

 
                 ’     ’ उप  ण     

उ                          ? 

(a)                               

                            

(b)                             

(Fishermen)                          

(c)                                     

  प            

(d)                 

2- Which of the following statements is 

not correct? 

(a) India's Third Lunar Mission 

'Chandrayaan-3' was successfully 

launched on July 14, 2023. 

(b) The day of soft-landing of 

Chandrayaan-3 on the Moon i.e. 

23rd August will be celebrated as 

'National Space Day'. 

(c) The place where ‘Vikram’ Lander of 

'Chandrayaan-2' landed on the 

surface of the Moon will now be 

known as 'Adi Shakti'. 

(d) 'Chandrayaan-3' is the first 

spacecraft to successfully land on 

the south pole of the Moon.  

 2-                   -    थ            ? 

(a) 14      , 2023                      

     ’      -3’         प     

   पण           

(b)       प        -3        -      

        थ     23         ’’      

           ’     प                  

(c) ’      -2’    ‘    ’      ,       

       प       थ   प  उ    थ , उ   

 ब ’       ’                        

(d) ’      -3’             ण     प  

     प                    प    

                

3- Recently ISRO launched 6 Co-

passenger satellites into space along 

with DS-SAR satellite through PSLV-

C56. All these seven satellites belong to 

which of the following countries? 

(a) Qatar 

(b) UAE 

(c) Singapore 

(d) Indonesia 

 3-           ISRO    PSLV-C56          

   DS-SAR उप        थ 6        

उप                     प            

         उप                          

     ? 

(a)     

(b) UAE  

(c)     प    

(d)            

4- Which of the following pairs is not 

correctly matched? 

(a) Jupiter  : Planet with the 

most satellites 

 4-                   -                    

      ? 

(a) ब   प    :  ब         उप    
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(b) Ganymede : Largest satellite of 

the solar system 

(c) Titan  : Largest satellite of 

Saturn 

(d) Mercury 

and Venus  

: Satellite-less 

planets 
 

        

(b)          :              ब   

ब   उप   

(c)        
            ब   ब   

उप   

(d) ब   औ  

      

: उप  -        

 

5- What is Whoosh in the context of 

recent events? 

(a) South-East Asia's first high speed 

rail 

(b) Fastest supercomputer developed by 

Indonesia 

(c) A newly installed nuclear reactor in 

Japan 

(d) A new isotope of uranium 

discovered recently  

 5-                               (Whoosh) 

      ?  

(a)    ण-प              थ       प        

(b)                              

  प          

(c)   प            थ  प  प   ण  

       

(d)                                   

       थ     

6- The duration of ‘India 6G Mission’ is: 

(a) 2023-2027 

(b) 2023-2025 

(c) 2023-2030 

(d) 2023-2033  

 6- ’     6G     ’           : 

(a) 2023-2027 

(b) 2023-2025 

(c) 2023-2030 

(d) 2023-2033  

 7- 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Which of the following pairs is not 

correctly matched with reference to 

Uranium? 

(a) The heaviest 

isotope of uranium   

: U-238 

(b) Recently 

discovered new 

isotope of uranium 

: U-242 

(c) The second 

heaviest isotope of 

uranium 

: U-241 

(d) Half-life of 

uranium-241  

: 40 minutes 

 

  7- 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                       -

                          ? 

(a)              ब        

   थ      

: U-238 

(b)                    

                

   थ      

: U-242 

(c)                   

 ब           थ      

: U-241 

(d)         -241       -

    (Half
life)  

: 40      
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8- Which pair is not correctly matched 

with reference to the World Air 

Quality Report, 2022, released in 

March 2023? 

(a) The world's most 

polluted capital  

: N'Djamena 

(Chad) 

(b) Most polluted 

city of Central 

and South Asia 

: Lahore 

(Pakistan) 

(c
 Second most 

polluted city of 

Central and 

South Asia. 

: Bhiwadi 

(Rajasthan) 

(d) Least polluted 

city of Central 

and South Asia 

: Digboi 

(Assam) 

 

 8-     , 2023                         

  प    (World Air Quality Report), 2022 

               -                        

  ? 

(a)         ब   

                

:    '        

(   ) 

(b)            ण 

          ब   

             

:       

(प       ) 

(c)            ण 

               

 ब               

:        

(    थ  ) 

(d)            ण 

          ब   

               

:    ब   

(   ) 

 

9- Which state of India has launched the 

world's first manual scavenging robot 

named 'Bandicoot'? 

(a) Haryana 

(b) Kerala 

(c) Tamil Nadu 

(d) Telangana 

 9- ’ब       ’                            प    

  ब                                    

  ? 

(a)      ण  

(b)       

(c)           

(d)          

10- Among the 17 Sustainable 

Development Goals (SDGs), SDG-9 is 

related to which of the following? 

(a) Excellent work and economic 

growth 

(b) reduction in inequality 

(c) Sustainable Cities and Communities 

(d) Industry, Innovation and 

Infrastructure 

 10- 17                (SDGs)    SDG-9 

     ब                          ?  

(a) उ          औ    थ        

(b)                

(c)                        

(d) उ   ,        औ                 

11- Which institute of Uttar Pradesh was 

established due to the efforts of the 

great theater artist Raj Bisaria who 

passed away recently? 

(a) Uttar Pradesh Sangeet Natak 

Academy 

(b) Bharatendu Natya Academy 

 11-                                     

     ब                   उ           

       थ       थ प      थ ? 

(a) उ                           

(b)                      
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(c) Uttar Pradesh Lalit Kala Academy 

(d) Uttar Pradesh Hindi Institute 
(c) उ                         

(d) उ                 थ   

12- Consider the following statements: 

1. Ravichandran Ashwin is the third 

Indian bowler after Anil Kumble 

and Kapil Dev to take 500 wickets 

in the 147-year history of Test 

cricket. 

2. Shane Warne has taken the most 

wickets in Test cricket. 

Which of the above statements is/are 

correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 12-           थ   प               

1.                            147     

             500                      

   ब   औ    प         ब         

          ब       

2.                ब                        

            

उप                 /    थ        /  ? 

(a)      1 

(b)      2 

(c) 1 औ  2       

(d)      1 औ       2 

13- Which of the following payloads was 

used to measure the surface-bound 

lunar plasma environment in the south 

polar region in the 'Chandrayaan-3' 

mission? 

(a) APXS 

(b) RAMBHA 

(c) LIBS 

(d) ILSA  

 13- ’      -3’            ण              

         ब                   ण    

  प                           -   

प                   थ ? 

(a) APXS 

(b) RAMBHA 

(c) LIBS 

(d) ILSA 

14- 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Which of the following pairs is not 

correctly matched? 

(a) Neena Singh  
 Director 

General of CISF 

(b) Hiralal 

Samaria  

: Chief 

Information 

Commissione 

(c) Ravneet 

Kaur  

: Chairperson of 

Competition 

Commission 

(d) Dr. Vijay 

Kumar 

Saraswat  

: Chairperson of 

Union Public 

Service 

Commission 
 

 14- 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                  -                    

      ? 

(a)           : CISF    

          

(b)         

         

:                 

(c)            :     प         

        

(d)   .      

              

:              
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15- Which of the following countries is not 

included in the ‘Global Biofuels 

Alliance’ (GBA), an initiative of India as 

chair of the G-20? 

(a) America 

(b) Brazil 

(c) Argentina 

(d) South Korea 

 15- G-20             प               प   

’                ब   ’ (GBA)    

                  -                   ? 

(a)         

(b)        

(c)          

(d)    ण        

16- Who has been elected President of the 

International Sugar Organization (ISO) 

for the year 2024? 

(a) China 

(b) Brazil 

(c) Cuba 

(d) India 

 16-     2024                             

(ISO)                         ? 

(a)     

(b)       

(c)    ब  

(d)      

17- Which of the following pairs is not 

matched with reference to Swachh 

Survekshan, 2023? 

(a) Second place in 

more than 1 

lakh population 

category 

: Surat (Gujarat) 

(b) First place in 

more than 1 

lakh population 

category  

: Saswad 

(Maharashtra) 

(c) Top Ganga City  : Varanasi  

(U. P.) 

(d) Best Cleaning 

Friend Safe City  

: Indore 

 

 17-          ण, 2023                      

         -                          ? 

(a) 1             

          ण     

       थ     

:      

(      ) 

(b) 1             

          ण      थ  

 थ    

:       

(      ) 

(c)                :     ण   

(उ.  .) 

(d)                 

           

:       

 

18- Consider the following statements with 

reference to the Nobel Prize: 

1. The Nobel Peace Prize was awarded 

to Palestinian politician Yasser 

Arafat. 

2. Winston Churchill, the British 

Prime Minister, was awarded the 

Nobel Peace Prize. 

Which of the above statements is/are 

correct? 

(a) 1 only 

(b) 2 only 

 18-   ब   प                             थ   

प               

1.                                  

     ब         प                     

थ   

2.                                     

  ब         प                     

थ   

उप              -   /    थ        /  ? 
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(c) Both 1 and 2 

(d) Neither 1 nor 2 
(a)      1 

(b)      2  

(c) 1 औ  2      

(d)      1 औ       2 

19- Consider the following statements: 

1. Vibrant Village Program is a 

centrally sponsored scheme 

approved for the financial year 

2022-23 to 2025-26. 

2. Manipur, Assam, Sikkim and 

Arunachal Pradesh are included in 

this program. 

Which of the above statements is/are 

correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 19-           थ   प               

1.                                    

                              2022-

23    2025-26                       

2.               णप  ,    ,       

 थ    ण                   

उप                 /    थ        /  ? 

(a)      1 

(b)      2 

(c) 1 औ  2       

(d)      1 औ       2  

20- Which statement is not correct 

regarding the Artemis Accords? 

(a) The Artemis Agreement was signed 

in October, 2020. 

(b) This agreement has been signed to 

provide direction for defense 

technology innovation in the 21st 

century. 

(c) India has signed this agreement. 

(d) America is a founding member of 

this agreement. 

 20-                              -    थ  

          ? 

(a)                   ब , 2020    

            थ    

(b)           21                 

                                  

                    

(c)                   प            

         

(d)                         थ प       

    

21- The central theme of International 

Yoga Day in the year 2023 was: 

(a) Yoga for Vasudhaiva Kutumbakam 

(b) yoga for humanity 

(c) Yoga for equality of all religions 

(d) none of these 

 21-     2023                          

            थ   

(a)             ब              

(b)                   

(c)                         

(d)                 
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22- Which Indian tradition is not included 

in UNESCO's representative list of 

intangible cultural heritages? 

(a) Sankirtan 

(b) Ramman 

(c) Tamasha 

(d) Kalbelia 

 22-                                       

                             प  प    

      -               ? 

(a)         

(b)      

(c)       

(d)    ब      

23- According to the World Air Quality 

Report, 2022, Tarakeshwar, the least 

polluted city of Central and South Asia, 

is in which state of India? 

(a) Bihar 

(b) West Bengal 

(c) Orissa 

(d) Jharkhand 

 23-                   प   , 2022           

           ण           ब             

                                  ? 

(a)  ब     

(b) प    ब      

(c) उ      

(d)        

24- ‘R21/Matrix-M’ is which of the 

following? 

(a) New vaccine of Corona 

(b) Anti Malaria Vaccine 

(c) New medicine of T.B.  

(d) Supercomputer developed by C-

DAC  

 24- ’R21/       -M’                      ? 

(a)                     

(b)                   

(c)   . ब .           

(d) C-DAC               प          

25- Which of the following pairs is not 

correctly matched? 

Person  Award (2023) 

(a) Sukrita 

Kumarpal  

: Rabindranath 

Tagore 

Literary 

Award 

(b) Pushpa Bharti  : Saraswati 

Samman 

(c) Neelam Sharan 

Gaur  

: Sahitya 

Academy 

(d) All are correctly matched 
 

 25-                   -                    

      ? 

                           (2023) 

(a)             प  

   

:        थ       

       प       

(b) प  प         :              

(c)        ण      :               

(d)                     
 

26- Ursula von der Leyen, who got first 

place in the list of 100 most powerful 

women in the world released by 

'Forbes', is related to which 

organization? 

(a) European Central Bank 

(b) The European Commission 

 26- ’     ’                        100  ब   

                           थ   थ   

प         उ                         ब   

       थ       ? 

(a)     प        ब   
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(c) Federal Reserve 

(d) International Monetary Fund 
(b)     प        

(c)              

(d)                    

27- Taylor Swift who has been in the news 

recently? 

(a) Due to be selected as Athlete of the 

Year, 2023 

(b) Due to be selected CEO of the Year, 

2023 

(c) Due to be chosen as TIME Person of 

the Year, 2023 

(d) None of these 

 27-                                    ? 

(a)  थ    ऑ       , 2023              

   ण 

(b) CEO ऑ       , 2023              

   ण 

(c)      प    ऑ       , 2023           

      ण 

(d)                  

28- ‘Early Warning for All’ initiative has 

been started by whom? 

(a) United Nations Environment 

Programme 

(b) United Nations 

(c) European Union 

(d) World Economic Forum 

 28- ’                 ’ प              

              ? 

(a)           प     ण        

(b)            

(c)     प       

(d)       थ      

29- Which of the following pairs is not 

matched with reference to recent 

events? 

(a) World's first 

portable hospital 

unveiled  

: Gurugram 


Haryana) 

(b) World's first 3D 

printed temple 

unveiled  

: Siddhipet 

(Telangana) 

(c) India's first fully 

integrated School 

of Sustainability 

inaugurated  

: IIT Madras 

(d) Second World 

War Museum 

named ‘The 

Hump’ 

inaugurated  

: Pasighat 

(Arunachal 

Pradesh) 

 

 29-                                        

         -                      ? 

(a)         थ  

प   ब    प    

        ण  

:        

(     ण ) 

(b)        प    3D 

               

     ण   

:     प   

(        ) 

(c)         प    

प ण              

     ऑ  

       ब        

उ     

:        

     

(d) ’    प’      

              

           

उ      

: प       

(  ण    

    ) 
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30- ‘AGNI’ initiative was launched by 

which ministry? 

(a) Ministry of Defence 

(b) Union Ministry of Education 

(c) Union Ministry of AYUSH 

(d) Ministry of Social Justice and 

Empowerment 

 30- ’   ’ (AGNI) प                        

     ? 

(a)            

(b)                    

(c)                     

(d)                                   

31- Which statement is not correct 

regarding Climate Change Performance 

Index, 2024? 

(a) Denmark, Estonia and Philippines 

have been ranked fourth, fifth and 

sixth respectively. 

(b) India ranks highest among BRICS 

countries. 

(c) Saudi Arabia, Iran and UAE are in 

the last three places. 

(d) America has improved its ranking 

from last year and has become one 

of the high performing countries. 

 31-        प                    , 2024    

            -    थ            ? 

(a)        ,          औ      प      

       थ , प      औ       थ       

       

(b)                         थ   प      

(c)        ब,      औ    . .            

 थ    प      

(d)          प               ब    प   

                       उ             

                              

32- 8 Indian cities have been included in 

UNESCO's Creative Cities Network by 

October 2023. In the context of these 

cities, how many cities are correctly 

matched with their fame (recognition)? 

1. Jaipur   :  Crafts and Arts 

2. Hyderabad  :  Cooking 

3. Srinagar   :  Literature 

4. Gwalior   :  Music 

(a) Only one  

(b) Only two  

(c) Only three  

(d) All 

 32- UNESCO                              

    ब  2023    8                  

                                          

 प         (      )      थ             

  ? 

1.   प   :     प औ      

2.      ब    :  प       

3.        :         

4.          :        

(a)         

(b)          

(c)           

(d)     

33- Consider the following statements with 

reference to the Global Hunger Index-

2023 (GHI Index-2023): 

1. India's rank in the Global Hunger 

Index-2023 is 112th with a score of 

 33-                  -2023 (GHI Index-

2023)                       थ   प  

             

1.                  -2023            
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28.7. 

2. The Central African Republic ranks 

last (125th) with a GHI score of 

42.3. 

Which of the above statements is/are 

correct? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

    28.7           थ 112       

2.            ण     42.3 GHI      

     थ       (125  )  थ   प      

उप              -       थ        /  ? 

(a)      1  

(b)      2  

(c) 1 औ  2      

(d)      1 औ       2 

34- Consider the following statements with 

reference to Nobel Prizes: 

1. Claudia Goldin is the third woman 

to receive the 2023 Economics 

Nobel, after Elinor Ostrom (2009) 

and Esther Duflo (2019). 

2. Nargis Mohammadi is the third 

Iranian woman to receive the Nobel 

Peace Prize for 2023, after Shirin 

Ebadi (2003) and Zina Mahsa Amini 

(2019). 

Which of the above statements is/are 

correct? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 34-   ब   प                              थ   

प               

1.     2023     थ          ब       

             उ           ,        

ऑ     (2009) औ    थ       

(2019)    ब                   

2.     2023               ब            

                 ,        ब    

(2003) औ                  (2019) 

   ब                         

उप              -  /    थ        /  ? 

(a)      1 

(b)      2 

(c) 1 औ  2      

(d)      1 औ       2 

35- 

 

 

 

 

 

 

 

 

 

 

 

 

 

The correct order of the top 5 

economies in the Global Innovation 

Index-2023 is: 

(a) Switzerland, Sweden, US, UK, 

Singapore 

(b) Switzerland, US, Singapore, UK, 

Sweden 

(c) Switzerland, UK, US, Sweden, 

Singapore 

(d) Switzerland, Singapore, US, UK, 

Sweden 

 35- 

 

 

 

 

 

 

 

 

 

 

 

 

 

                    -2023         5 

 थ    थ               : 

(a)          ,      ,        ,   .  ., 

    प   

(b)          ,        ,     प  ,   .  ., 

       

(c)          ,   .  .,        ,      , 

    प    

(d)          ,     प  ,        ,   .  ., 
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36- Consider the following statements in 

the context of ‘Global South’: 

1. The term Global South was first 

used in the year 1969 by political 

activist Carl Oglesby. 

2. ‘Global South’ refers to countries 

that are known as developing, less 

developed or underdeveloped. 

Which of the above statements is/are 

correct? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 36- ’         ण’ (Global South)             

          थ   प               

1.          ण        प    ब        

    1969                           

     ब                थ   

2. ’         ण’       प   उ            , 

              ,            थ   

            प                  

उप              -  /    थ        /  ? 

(a)      1 

(b)      2 

(c) 1 औ  2      

(d)      1 औ       2 

37- Consider the following pairs: 

1. Chennakeshava 

Temple  

: Belur, 

Hassan 

2. Hoysaleshwara 

Temple  

: Halebindu, 

Hassan 

3. Keshava 

Temple  

: Somnathpu, 

Mysuru 

How many of the above pairs are/are 

correctly matched? 

(a) Only one 

(b) Only two 

(c) All 

(d) None 

 37-                प                

1.                 : ब    ,       

2.                 :      ब  ,       

3.              :      थप  ,        

उप                                    /  ? 

(a)          

(b)         

(c)     

(d)            

38- Which of the following pairs is not 

correctly matched? 

 Global Index-2023   Ranking 

of India 

(a) Energy Transition 

Index, 2023  

: 67 

(b) Sustainable 

Development 

Report, 2023  

: 111 

(c) Global Peace 

Index, 2023  

: 126 

(d) World Talent 

Ranking, 2023 

: 56 

 

 38-                   -                    

      ? 

             -2023          

      

(a)          ण        , 

2023 

: 67 

(b)             प   , 

2023 

: 111 

(c)                    , 

2023 

: 126 

(d)                , : 56 
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2023 
 

39- Recently, in the event of disaster 

caused by Mocha cyclone, which 

operation did India launch to provide 

disaster assistance to the people of 

Myanmar? 

(a) Operation Mocha 

(b) Operation Vijay 

(c) Operation Karuna 

(d) Operation Medha 

 39-                             उ प  

 प        थ                              

        प                           

   -    प               ? 

(a) ऑप           

(b) ऑप           

(c) ऑप       ण  

(d) ऑप          

40- Which statement is not correct 

regarding the World Press Freedom 

Index? 

(a) The index is published annually by 

'Reports Without Borders (RSF), a 

French NGO, since 2002. 

(b) Norway has been ranked first for 

the 7th consecutive time in the 

index for the year 2023. 

(c) North Korea ranks last in the index 

for the year 2023. 

(d) India has secured 150th position in 

the year 2023 with a score of 36.62. 

 40-                                       -

    थ            ?  

(a)                   2002              

              ’  प         उ  ब      

(RSF)                           

(b)     2023                              

7   ब    थ   थ              

(c) उ              2023               

       थ   प      

(d)             2023    36.62         

  थ 150     थ                

41- According to the International Peace 

Research Institute, which are the five 

largest arms-importing countries in the 

world in the period 2018-22? 

(a) America, Russia, France, China, 

Germany 

(b) India, Saudi Arabia, Australia, 

China, Japan 

(c) India, Saudi Arabia, Qatar, 

Australia, China 

(d) India, Australia, Saudi Arabia, 

Qatar, Japan 

 41-           प                            

    2018-22                   प    

 ब   ब     -            ?  

(a)        ,   ,     ,    ,       

(b)     ,        ब, ऑ       ,    , 

  प   

(c)     ,        ब,    , ऑ       , 

    

(d)     , ऑ       ,        ब,    , 

  प   

42- The G-20 summit was organized in 

India in September 2023. India had 

invited 9 countries as guest countries 

during its presidency of G-20. Which of 

the following countries was not 

 42-     ब , 2023              -20      

                                  

  -20                    9         

    थ          प                थ   



 

B-36, Sector-C, Aliganj, Lucknow            Cont. Nos. 9415011892 /  8858209990                                Page 13 
 

included in these? 

(a) Oman 

(b) UAE 

(c) Egypt 

(d) Saudi Arab 

                  -                  

    थ ? 

(a)       

(b)      

(c)      

(d)        ब 

43- Year 2023 Prime Minister Narendra 

Modi launched the International Big 

Cats Alliance (IBCA). Which of the 

following is/are included in the Big 

Cats? 

1. Leopard 

2. Snow Leopard 

3. Puma 

4. Jaguar 

(a) 1, 2 and 3 only 

(b) 3 and 4 only 

(c) 4 only 

(d) All 

 43-     2023                                 

 ब              (IBCA)               

                  -       ब          

        /  ? 

1.       (Leopard) 

2.            (Snow Leopard) 

3.       (Puma)  

4.       (Jaguar)  

(a)      1, 2 औ  3  

(b)      3 औ  4  

(c)      4 

(d)       

44- Which of the following pairs is 

correctly matched? 

Book  Author 

(a) Suryavansham  : Shivshankari 

(b) Chandapur ki 

Chanda  

: Atul Kumar 

Ram 

(c) Alanda Patchi  : Sukrita Pal 

Kumar 

(d) Requiem in 

Raga Janki  

: Neelam 

Sharan Gaur 
 

 44-                   -                    

  ? 

प                 

(a)            :          

(b)     प            :            

    

(c)       प     :        प   

      

(d)                 

       

:        ण 

    
 

45- Which of the following states has 

passed a bill to increase caste 

reservation from 50% to 65%? 

(a) Rajasthan 

(b) Himachal Pradesh 

(c) Karnataka 

(d) Bihar 

 45-                                प     

               ण    50%    ब     

65%                       ? 

(a)     थ   

(b)              

(c)        
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(d)  ब    

46- The SI unit for the activity of a 

radioactive substance is: 

(a) Curie 

(b) Bequerel 

(c) Avagadoro 

(d) Faraday 

 46-             प  थ                   SI 

         

(a)        

(b) ब        

(c)         

(d)        

47- Which of the following physical 

quantities is obtained by dividing the 

momentum of a substance by its 

velocity? 

(a) Acceleration 

(b) Force 

(c) Mass 

(d) None of these 

 47- प  थ              उ                   

     प                 -              

           ? 

(a)    ण 

(b) ब  

(c)       

(d)                 

48- In the absence of wind, if two balls- A 

(wooden ball) and B (iron ball) are 

dropped together from a height of 25 

meter, which of the following will 

happen? 

(a) Ball A will reach the ground first 

(b) Ball B will reach the ground first 

(c) Both balls will reach the ground 

simultaneously 

(d) None of the above 

 48-           प  थ             - A (        

   ) औ  B (           )    25         

              थ               ,    

                            ?   

(a)      प  A     प    प       

(b)      प  B     प    प       

(c)      प             थ-  थ प       

(d) उप                  

49- On which of the following principles 

do hydraulic brakes of automobiles 

work? 

(a) Archimedes' Principle 

(b) Newton's Third Principle of Motion 

(c) Pascal's Principle 

(d) Principle of Conservation of 

Momentum 

 49- ऑ    ब                             

           प              ? 

(a)                    

(b)                              

(c) प               

(d)           ण           

50- Which of the following has the highest 

frequency? 

(a) Ultraviolet rays 

(b) Gamma rays 

(c) X rays 

(d) Infrared rays 

 50-                         ब        

       ? 

(a) प  ब        ण  

(b)         ण  

(c) X    ण  

(d)         ण  
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51- Which of the following is not an 

example of an electromagnetic wave? 

(a) Gamma rays 

(b) X-rays 

(c) Ultraviolet rays 

(d) Ultrasonic wave 

 51-                         -   ब         

   उ    ण       ? 

(a)         ण 

(b) X-   ण 

(c) प  ब        ण 

(d) प              

52- Which gas is inside the electric bulb? 

(a) Oxygen 

(b) Carbon Dioxide 

(c) Sulphur 

(d) None of these 

 52-       ब ब            -              ? 

(a) ऑ       

(b)   ब             

(c)      

(d)                 

53- Which of the following metals is the 

most reactive? 

(a) Potassium (K) 

(b) Sodium (Na) 

(c) Calcium (Ca) 

(d) Iron (Fe) 

 53-                   -         ब        

          ? 

(a) प        (K) 

(b)        (Na) 

(c)         (Ca) 

(d)      (Fe) 

54- Which of the following metals is found 

in myoglobin? 

(a) Silver 

(b) Gold 

(c) Copper 

(d) Iron 

 54-         ब                       -   

     प          ? 

(a)       

(b)      

(c)    ब  

(d)      

55- Who was Safdarjung? 

(a) A nawab of Awadh 

(b) A nizam of Hyderabad 

(c) A nawab of Bengal 

(d) A nawab of Purnia 

 55-             थ ? 

(a)              ब 

(b)      ब               

(c) ब              ब 

(d) प  ण            ब 

56- Consider the following statements: 

1. The first Urdu newspaper ‘Jam-e-

Jahannuma’ was published from 

Calcutta in 1822 AD. 

2. In 1848 AD, the first Urdu 

newspaper of Uttar Pradesh was 

published from Agra in the name of 

'Sayyidul Akhbar'.   

 56-           थ   प               

1. उ       प      ब   ’   - -        ’ 

1822  .                        

2. 1848  .     उ           प    उ    

       प          '          ब  ' 
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Which of the above statements is/are 

correct? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

उप              -       थ        /  ? 

(a)      1   

(b)      2  

(c) 1 औ  2      

(d)      1 औ       2 

57- Which of the following statements is/are 

correct? 

1. Agra city was founded by Sikandar 

Lodi in 1501 AD. 

2. Itam-ud-Daula's tomb in Agra was 

built by Akbar. 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 57-                   -   /     थ      

  /  ? 

1.              थ प                  

1501  .       थ   

2.                         ब      

     ण   ब            थ   

     1  

     2  

1 औ  2      

     1 औ       2 

58- Which of the following statements 

is/are correct? 

1. Delhi shares its border with only 

two districts of Uttar Pradesh. 

2. Uttar Pradesh shares most of its 

borders with the state of Bihar. 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 58-                   -   /     थ      

  /  ? 

1.               उ                   

  प               

2. उ       ,  ब              थ  ब   

                         

(a)      1  

(b)      2  

(c) 1 औ  2      

(d)      1 औ       2 

59- Who among the following founded 

Jhansi in 1613 AD? 

(a) Bir Singh Bundela 

(b) Jahangir 

(c) Malik Abu Raja Junaidi 

(d) Chhatrasal 

 59-                      1613  .          

 थ प      थ ? 

(a) ब       ब       

(b)         

(c)       ब              

(d)       

60- Which of the following statements 

is/are correct? 

1. At the time of Hiuen Tsang, Sarnath 

was the main center of Theravada. 

  60-                   -   /     थ      

  /  ? 

1.                      थ थ         
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2. Hiuen Tsang has described the 

Dhamek Stupa at Sarnath built 

during the Maurya period. 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

          थ   

2.                       थ   थ       

   प     ण                        

(a)      1  

(b)      2  

(c) 1 औ  2      

(d)      1 औ       2 

61- Which of the following pairs is not 

correctly matched? 

District  Headquarters 

(a) Ambedkarnagar  : Akbarpur 

(b) Kushinagar  : Padrauna 

(c) Sonbhadra  : Robertsganj 

(d) Kasganj  : Mahamaya

Nagar 
 

 61-                -                    

      ? 

        प                

(a)   ब        :   ब प   

(b)         : प      

(c)        :   ब       

(d)         :            
 

62- Which pair is not correctly matched in 

the context of ODOP? 

District  Product 

(a) Kasanganj : Zari-Zardozi 

(b) Chandauli : Zari-Zardozi 

(c) Badaun : Zari-Zardozi 

(d) Jaunpur : Zari-Zardozi 
 

 62- ODOP                -            

              ? 

             उ प   

(a)         :    -       

(b)        :    -       

(c) ब      :    -       

(d)    प    :    -       
 

63- On January 26, 1950, the Chief 

Minister and Governor of Uttar 

Pradesh were respectively: 

(a) Dr. Sampurnanand and Shri K. 

M.Munshi 

(b) Govind Vallabh Pant and Shri H.P. 

Modi 

(c) Govind Vallabh Pant and Shri K. 

M.Munshi 

(d) Dr. Sampurnanand and Shri H. P. 

Modi 

 63- 26      , 1950    उ           

         औ      प        थ : 

(a)   .   प ण      औ       .   .        

(b)             प   औ       . प .      

(c)             प   औ       .   .        

(d)   .   प ण      औ       . प .      

64- Which of the following statements 

is/are correct? 

1. Dr. B. R. Ambedkar was the Law 

Minister in Nehru's cabinet after 

independence. 

2. Disagreeing on the issue of Hindu 

 64-                   -  /    थ        /  ? 

1.   . ब .   .   ब              ब   

                               थ   

2.           ब          प             
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Code Bill, he resigned from the post 

of minister. 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

उ           प         -प          थ   

(a)      1 

(b)      2 

(c) 1 औ  2        

(d)      1 औ       2 

65- Who among the following was an 

important member of the Constituent 

Assembly and the Minister of Women 

and Child Development in Nehru's 

cabinet formed after independence? 

(a) Rajkumari Amrit Kaur 

(b) Vijay Lakshmi Pandit 

(c) Sarojini Naidu 

(d) Nalini Sen Gupta 

 65-                   ,                     

       प ण         थ          उप     

                                   ब   

           थ ? 

(a)                     

(b)           प     

(c)                

(d)                

66- Indira Sawhney case is related to which 

of the following? 

(a) Violation of fundamental rights 

(b) Reservation for backward classes 

(c) Property rights 

(d) None of these 

 66-                       ब                  

        ?  

(a)                  उ          

(b)  प              ण     

(c)   प                  

(d)                 

67- Who became his successor (Caliph) 

after Prophet Muhammad? 

(a) Hazrat Abu Bakr Siddiq 

(b) Hazrat Umar Farooq 

(c) Hazrat Usman 

(d) Hazrat Ali 

 67- प   ब            ब   उ    उ          

(     )     ब  ? 

(a)       ब  ब        

(b)      उ        

(c)      उ     

(d)          

68- Which of the following pairs is not 

correctly matched? 

Mughal Emperor  Real Name 

(a) Babar  : Zaheeruddin 

Muhammad 

(b) Akbar  : Jalaluddin 

Muhammad 

(c) Jahangir  : Rukunuddin 

Muhammad 

(d) Aurangzeb  : Muhiuddin 

Muhammad 
 

 68-                   -                    

      ? 

                      

(a) ब ब  :                

(b)   ब     :                 

(c)          :                 

(d) औ     ब  :     उ           
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69- Which of his daughters did Akbar 

marry with Persian Prince Shahrukh 

Mirza? 

(a) Sukurunnisa 

(b) nisara khatoon 

(c) Maryam Safina 

(d) Dilnawaz Mirza 

 69-   ब   प       प                     

                          थ      थ  ? 

(a)           

(b)              

(c)              

(d)               

70- Which statement is not correct in the 

context of Sufism? 

(a) Awarif-ul-Mashrif was composed 

by Shihabuddin Suhrawardy. 

(b) Nizamuddin did not appoint Auliya 

as his Caliph. 

(c) Qalid-e-Makhajin was composed by 

Ghaus Shattar. 

(d) Sheikh Ahmed Sirhindi was a 

Naqshbandi Sufi. 

 70-                        -    थ          

  ? 

(a)       -उ -              

    ब                    थ   

(b)           औ         प             

           थ    

(c)     - -                        

      थ    

(d)                    ब         थ   

71- Consider the following statements with 

reference to the Iqta system: 

1. Iqta system was established by 

Iltutmish. 

2. Transfer was the inherent character 

of this system. 

Which of the statements given above 

is/are correct? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 71-        थ                        थ   

प               

1.        थ                    थ  प  

         थ    

2.  थ      ण       थ              

     थ   

उप           - /    थ        /  ? 

(a)      1 

(b)      2 

(c) 1 औ  2      

(d)      1 औ       2 

72- 

 

 

 

 

 

 

 

 

 

Who among the following is called 

Shayar-e-Mashriq (Poet of the East)? 

(a) Mir Taqi Mir 

(b) Mirza Ghalib 

(c) Allama Iqbal 

(d) Faiz Ahmad Faiz 

 72- 

 

 

 

 

 

 

 

 

 

                        - -      (प    

       )            ? 

(a)             

(b)           ब 

(c)          ब   

(d)              
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73- Which of the following statements 

is/are correct? 

1. The Jnanpith Award is presented in 

22 languages given in the Eighth 

Schedule of the Constitution. 

2. The Sahitya Akademi Award is 

presented in 22 languages given in 

the Eighth Schedule of the 

Constitution. 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 73-                   -  -    थ        /  ? 

1.    प   प                       

                 22               

              

2.               प                  

                      22          

                    

(a)      1  

(b)      2  

(c) 1 औ  2      

(d)      1 औ       2 

74- Consider the following amendments to 

the Constitution: 

1. 21st Constitutional Amendment Act 

2. 71st Constitutional Amendment Act 

3. 92nd Constitutional Amendment 

Act 

How many of the above amendments 

relate to the Eighth Schedule? 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 74-                             प        

       

1. 21                           

2. 71                           

3. 92                           

उप                              ब        

             ? 

(a)      1  

(b)      2  

(c) 1 औ  2      

(d)      1 औ       2 

75- Which of the following pairs is not 

correctly matched? 

Book  Author 

(a) Chitralekha  : Bhagwati Charan 

Verma 

(b) Aadha Gaon : Shrilal Shukla 

(c) Kamayani  : Jaishankar Prasad 

(d) Sooraj ka 

Satvan 

Ghoda 

: Dharamveer 

Bharti 

 

 75-                   -                    

      ? 

प          

(a)         :         ण      

(b)          :             

(c)         :             

(d)         

             

:              

 

76- Which of the statement is not correct ? 

(a) India is the largest producer of 

sponge iron. 

(b) India is second largest producer of 

steel. 

 76-                 थ            ? 

(a)       प            ब   ब   

उ प        

(b)        प             ब   ब   
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(c) China is largest Steel Producers in 

the World. 

(d) Jharkhand is the largest producer of 

steel in India. 

उ प        

(c)             ब   ब     प   उ प    

    

(d)                  प       ब   ब   

उ प        

77- The concept of Zero-Based Budgeting 

was introduced in which Union 

Budget? 

(a) 2018-19 

(b) 2017-18 

(c) 2016-17 

(d) 2015-16 

  77-     -       ब             ण      

      ब      प         थ ? 

(a) 2018-19 

(b) 2017-18 

(c) 2016-17 

(d) 2015-16 

78- Which one of the following has not 

been appointed as a female judges of 

the Supreme Court of India? 

(a) Sujata Manohar 

(b) Ranjana Desai 

(c) Indu Malhotra  

(d) Neelam Trivedi 

 78-                                  

                              प    

                     ? 

(a)              

(b)             

(c)             

(d)             

79- UP Gaurav Samman has been given to 

which of the following ? 

(a) Dr. Ritu Karidhal 

(b) Naveen Tiwari 

(c) Both a & b 

(d) None 
 

 79-   प                                 

           ? 

(a)   .            

(b)             

(c) a औ  b      

(d)         

80- The book ‘Ashtadhyayi’ written by 

Panini was mainly based on- 

(a) Religious ceremonies  

(b) Social Ceremonies  

(c) Sanskrit Grammar 

(d) none of the above 

 80- ikf.kuh }kjk fy[kh xbZ fdrkc *v”Vk/;k;kh* 

eq[;r% fdl ij vk/kkfjr Fkh \ 

(a) /kkfeZd deZdkaM 

(b) lkekftd deZdkaM 

(c) laL—r O;kdj.k  

(d) mijksä esa ls dksbZ Hkh ugha 

81- Which of the following channel is also 

called ‘The Great Channel’? 

(a) Six Degree Channel 

(b) Eight Degree Channel 

(c) Ten Degree Channel 

(d) Nine Degree Channel  

 81- fuEufyf[kr esa ls fdl pSuy dks *xzsV pSuy* Hkh 

dgk tkrk gS\  

(a) N% fMxzh pSuy 

(b) vkB fMxzh pSuy 

(c) nl fMxzh pSuy 

(d) ukS fMxzh pSuy 
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82- Who said that Indian National Congress 

is a ‘Begging Institute’? 

(a) Bal Gangadhar Tilak 

(b) Bipin Chandra Pal 

(c) Aurobindo Ghosh      

(d) Subhash Chandra Bose 

 82- fdlus dgk fd Hkkjrh; jk"Vªh; dkaxzsl ,d 

*csfxax bULVhV~;wV* gS\ 

(a) cky xaxk/kj fryd 

(b) fcfiu paæ iky 

(c) vjfcanks ?kks"k 

(d) lqHkk"k paæ cksl 

83- Which one of the following group of 

rivers is correctly arranged from North 

to South direction? 

(a) Godawari, Krishna, Bhima 

(b) Krishna, Godawari, Bhima  

(c) Bhima, Godawari, Krishna  

(d) Godawari, Bhima, Krishna  

 83- ufn;ksa dk fuEufyf[kr esa ls dkSu lk lewg mÙkj 

ls nf{k.k fn'kk esa lgh O;ofLFkr gS\  

(a) xksnkojh] —".kk] Hkhek 

(b) —".kk] xksnkojh] Hkhek 

(c) Hkhek] xksnkojh] —".kk 

(d) xksnkojh] Hkhek] —".kk 

84- Lorraine that is located in France is 

famous for-  

(a) Iron ore    

(b) Coal reserves  

(c) Steel production 

(d) Crude oil production 

 84- Ýkal esa fLFkr yksjsu fdlds fy, çfl) gS\ 

(a) ykSg v;Ld 

(b) dks;yk HkaMkj 

(c) bLikr mRiknu 

(d) dPpk rsy mRiknu 

85- Which among the following conditions 

are necessary for the issue of writ of 

quo warranto? -  

1. The office must be public and must 

be created by a statute or by the 

constitution itself.  

2. The office must be a substantive one 

and not merely the function or 

employment of a servant at will and 

during the pleasure of another.  

(a) 1 only         

(b) 2 only 

(c) both 1 & 2        

(d) none of the above 

 85- vf/kdkj i`PNk dk fjV tkjh djus ds fy, 

fuEufyf[kr esa ls dkSu&lk@ls ‘krZ@’krZsa 

vko';d gS@gSa \  

1- ljdkjh in gksuk pkfg, vkSj bls ,d 

lkafof/kd fudk; vFkok Lo;a lafo/kku }kjk gh 

cuk;k x;k gksA  

2- in okLrfod gksuk pkfg,] u fd yksd lsok 

dk dk;Z ;k jkstxkj fdlh vU; ds bPNkuqlkj 

vFkok izlkn&i;ZUr gksuk pkfg,A 

(a) dsoy 1        

(b) dsoy 2 

(c) nksuksa 1 vkSj 2     

(d) mijksä esa dksbZ ugha 

86- Which of the following is not 

specifically mentioned in Article 19 of 

the Constitution? 

(a) Freedom of speech and expression  

(b) Freedom to assemble peacefully 

without arms 

(c) Freedom to move freely      

(d) Freedom of the Press 

 86- fuEu esa ls D;k lafo/kku ds vuqPNsn 19 esa fo'ks"k 

:i ls of.kZr ugha gS \ 

(a) Hkk"k.k vkSj vfHkO;fä dh Lora=rk 

(b) fu%’kL= ,df=r gksus dh Lora=rk 

(c) vkus&tkus dh Lora=rk   

(d) çsl dh Lora=rk 

87- The Indian constitution established a 

secular state, it means- 

1. The state treats all religious equally. 

2. Freedom of faith & worship is 

allowed to all people. 

3.Educational institutions, without 

exception are free to impart religious 

instructions.     

 87- Hkkjrh; lafo/kku us ,d /keZfujis{k jkT; LFkkfir 

fd;k] bldk D;k vFkZ gS \ 

1- jkT; lHkh /kekZsZ ds lkFk leku O;ogkj djrk 

gSA 

2- lHkh dks fo'okl vkSj iwtk dh Lora=rk gSA 

3- fcuk fdlh viokn ds 'kS{kf.kd laLFkku 

/kekZains’k nsus ds fy, Lora= gSaA 
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(a) 1 & 2     

(b) 2 & 3 

(c) 1 & 3    

(d) 1, 2 & 3  

(a) 1 & 2     

(b) 2 & 3 

(c) 1 & 3    

(d) 1, 2 & 3 

88- Which of the following statements best 

defines the Parliamentary term 

‘Crossing the Floor’? 

(a) Leaving the opposition to join the 

party in power or vice-versa by a 

parliamentarian.  

(b) An attempt to occupy the seat of 

some other parliamentarians.   

(c) Leaving a House by a minister in 

between in order to attend the other 

House. 

(d) Walk out by some parliamentarians 

in order to boycott the proceedings of 

the House. 

 88- fuEufyf[kr esa ls dkSu lk dFku lalnh; 'kCn 

*Ø‚flax n ¶yksj* dks lgh :i ls ifjHkkf"kr 

djrk gS \ 

(a) fdlh lkaln }kjk foi{k dks NksM+dj 

lÙkk:<+ ny esa 'kkfey gksuk ;k blds lŸkk:<+ 

ny dks NksM+ dj foi{k esa ‘kkfey gksukA 

(b) dqN vU; lkalnksa dh lhV ij dCtk djus 

dk ç;klA 

(c) nwljs lnu esa Hkkx ysus ds fy, ea=h }kjk 

lnu dks chp esa NksM+dj tkukA 

(d) lnu dh dk;Zokgh dk cfg"dkj djus ds 

fy, dqN lkalnksa }kjk pys tkukA 

89- Which of the following is/are correct ?  

1. A bill pending in Rajya Sabha which 

has not been passed by Lok Sabha 

lapses on the dissolution of Lok Sabha. 

2. If the President has notified about his 

intention to summon a joint sitting on a 

bill, the bill does not lapse even if the 

Lok Sabha is dissolved after 

notification.   

(a) 1 only         

(b) 2 only 

(c) both 1 & 2        

(d) none of the above 

 89- fuEu esa ls dkSu&lk@ls lgh gS@gSa \ 

1- yksdlHkk }kjk fcuk ikfjr fd;k gqvk 

jkT;lHkk esa fo/kkjk/khu fo/ks;d yksdlHkk ds 

fo?kVu gksus ij fujLr gks tkrk gSA  

2- vxj jk"Vªifr us fo/ks;d ij ,d la;qä cSBd 

dks cqykus ds vius bjkns ds ckjs esa vf/klwfpr 

fd;k gS] rks fcy fujLr ugha gks ldrk] Hkys gh 

yksdlHkk vf/klwpuk ds ckn Hkax gks tk,A 

(a) dsoy 1        

(b) dsoy 2 

(c) nksuksa 1 vkSj 2     

(d) mijksä esa dksbZ ugha 
90- The provision regarding division of 

taxes between Union and  States- 

(a) Can be suspended during national 

emergency.   

(b) Can be suspended during financial 

emergency   

(c) Can be suspended only with the 

consent of the majority of state 

legislatures. 

(d) Can’t be suspended under any 

circumstances 

 90- la?k vkSj jkT;ksa ds chp djksa ds foHkktu ds 

çko/kku dks & 

(a) jk"Vªh; vkikrdky ds nkSjku fuyafcr fd;k 

tk ldrk gSA 

(b) foÙkh; vkikrdky ds nkSjku fuyafcr fd;k 

tk ldrk gSA 

(c) dsoy jkT; fo/kkf;dkvksa ds cgqer dh 

lgefr ls fuyafcr fd;k tk ldrk gSA 

(d) fdlh Hkh ifjfLFkfr esa fuyafcr ugha fd;k 

tk ldrk gSA 

91- The Supreme Court is a court of record. 

This implies that- 

1. It can punish for its contempt. 

2. Its decisions are admitted as 

evidence and cannot be questioned in 

any court of law. 

3. It has to keep record of all the 

 91- mPpre U;k;ky; fjd‚MZ dk U;k;ky; gS bldk 

vFkZ ;g gS fd& 

1- viuh voekuuk ds fy, ;g ltk ns ldrk 

gSA 

2- bldk fu.kZ; lcwr ds :i esa Lohdkj fd;k 

tkrk gS vkSj fdlh Hkh fof/kd U;k;ky; esa bls 

pqukSrh ugha nh tk ldrhA 
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important cases that are conducted in 

India. 

4. Its decision, once taken, is binding 

upon it. 

(a) 1 & 4    

(b) 1 & 2   

(c) 1, 2 & 4   

(d) 1, 2 & 3  

3- Hkkjr esa ?kfVr gksus okys lHkh egRoiw.kZ ekeyksa 

dk fjd‚MZ j[kuk gksrk gSA 

4- ,d ckj fu.kZ; ysus ds ckn bldk fu.kZ; 

ck/;dkjh gksrk gSA 

(a) 1 & 4    

(b) 1 & 2   

(c) 1, 2 & 4   

(d) 1, 2 & 3 

92- The legislative council of a state- 

1. is not subject to dissolution. 

2. can be abolished by the state 

legislative assembly. 

3. can be abolished by the president on 

the governor’s recommendation. 

Which of the above statement/s is/are 

correct ? 

(a) 1 only      

(b) 2 & 3  

(c) 1 & 3    

(d) 1, 2 & 3  

 92- ,d jkT; ds fo/kku ifj"kn& 

1- dk fo?kVu ugha gks ldrkA 

2- dks jkT; fo/kkulHkk }kjk lekIr fd;k tk 

ldrk gSA 

3- dks jkT;iky dh flQkfj'k ij jk"Vªifr }kjk 

lekIr fd;k tk ldrk gSA 

mijksä esa ls dkSu&lk@ls dFku lgh gS@gSa\  

(a) dsoy 1    

(b) 2 & 3  

(c) 1 & 3    

(d) 1, 2 & 3 

93- Which one of the following is not a 

power of the high court? 

(a) Supervision over all courts under its 

jurisdiction 

(b) Jurisdiction over revenue matters 

(c) Supervision over tribunals 

constituted by law relating to the armed 

forces. 

(d) Issue writs for enforcement of 

fundamental rights or for any other 

purpose. 

 93- fuEu esa ls dkSu lk mPp U;k;ky; dk vf/kdkj  

ugha gS \ 

(a) vius vf/kdkj {ks= ds varxZr lHkh 

U;k;ky;ksa dk fujh{k.k  

(b) jktLo ekeyksa ij U;k;kf/kdkj 

(c) l'kL= cyksa ls lacaf/kr fof/k }kjk fufeZr  

U;k;kf/kdj.kksa dk fujh{k.kA 

(d) ekSfyd vf/kdkjksa dks ykxw djus ;k fdlh 

vU; mís'; ds fy, fjV tkjh djukA  

94- Which one of the following pairs is not 

correctly matched? 

(a) Article 213 : Power of 

Governor to 

promulgate 

ordinance 

(b) Article 112 : Annual financial 

budget 

(c) Article 149 : Duties & Powers 

of CAG 

(d) Article 72 : Council of 

Ministers to aid & 

advice President 
 

 94- fuEufyf[kr esa dkSu&lk ;qXe lgh lqesfyr ugh 

gS \  

(a) vuqPNsn 213 : jkT;iky dk v/;kns’k dh 

?kks”k.kk dk vf/kdkj 

(b) vuqPNsn 112 : okf"kZd foŸkh; ctV 

(c) vuqPNsn 149 : Hkkjr ds fu;a=d ,oa 

egkys[kk ijh{kd ds 

vf/kdkj ,oa dŸkZO; 

(d) vuqPNsn 72 : jk"Vªifr dks lykg ,oa 

lgk;rk nsus gsrq eaf=ifj”kn 
 

95- Which of the following groups 

participate in election of Vice President 

and not President ? 

1. Elected members of Lok Sabha 

2. Nominated members of Lok Sabha 

 95- fuEu esa ls dkSu lk lewg mijk”Vªifr ds pquko 

esa Hkkx ysrk gS ysfdu jk"Vªifr ds pquko esa ugha\ 

1- yksdlHkk ds fuokZfpr lnL; 

2- yksd lHkk ds ukekafdr lnL; 
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3. Elected members of legislative 

assemblies  

4. Nominated members of legislative 

assemblies 

(a) 2 only   

(b) 2 & 3  

(c) 3 & 4         

(d) 2 & 4  

3- fo/kkulHkkvksa ds fuokZfpr lnL; 

4- fo/kkulHkkvksa ds ukekafdr lnL; 

(a) dsoy 2   

(b) 2 & 3  

(c) 3 & 4         

(d) 2 & 4 

96- The Public Account Committee submits 

its report to- 

(a) The Comptroller & Auditor General 

(CAG) 

(b) The Speaker of the Lok Sabha  

(c) The Minister of Parliamentary 

Affairs 

(d) The Account Department of 

Finance Ministry  

 96- yksd ys[kk lfefr fdls viuh fjiksVZ çLrqr 

djrh gS \ 

(a) fu;a=d ,oa egkys[kk ijh{kd ¼lh,th½ 

(b) yksdlHkk/;{k  

(c) lalnh; dk;Z ea=h 

(d) foÙk ea=ky; dk ys[kk foHkkx 

97- Which one of the following parts of 

Indian Constitution does not match 

correctly?  

 Part  Subject 
(a) Part V : The Union 

(b) Part IVA : Fundamental rights 

(c) Part IX : The Panchayats 

(d) Part IV : Directive Principles 
 

 97- fuEufyf[kr esa dkSu&lk ;qXe lgh lqesfyr ugh 

gS \  

 Hkkx  fo"k; 

(a) Hkkx V : la?k 

(b) Hkkx IVA : ekSfyd vf/kdkj 

(c) Hkkx IX : iapk;r 

(d) Hkkx IV : uhfrfunsZ’kd fl)kar 
 

98- In which of the following states, there is 

no Scheduled Caste (SC) is found ?  

(a) Himachal Pradesh  

(b) Mizoram  

(c) Lakshadweep    

(d) Assam  

 98- fuEufyf[kr esa ls fdl jkT; esa] dksbZ vuqlwfpr 

tkfr ¼,llh½ ugha gS \ 

(a) fgekpy çns'k  

(b) fetksje 

(c) y{k}hi   

(d) vle 

99- Which of the following pairs are 

correctly matched ? 

1. Myopia disease  : Concave 

Lens 

2. Glasses used for 

reading 

: Convex Lens 

3. Mirror used in 

vehicles to view the 

back traffic 

: Convex 

Mirror 

4. Mirror used in 

shaving 

: Concave 

Mirror 

(a) 1 & 2         

(b) 2, 3 & 4        

(c) 1, 2 & 4    

(d) 1, 2, 3 & 4    

 

 

 99- fuEufyf[kr esa ls dkSu&lk @ ls ;qXe lgh 

lqesfyr gS @ gSa \  

1. fudV n`f”V jksx : vory ysal 

2. i<+us ds fy, bLrseky 

gksus okyk p'ek 

: mŸky ysal 

3. ihNs ds VªSfQd dks 

ns[kus ds fy, okguksa 

esa ç;qä niZ.k 

: mŸky niZ.k 

4. 'ksfoax esa iz;qä niZ.k : vory niZ.k 

(a) 1 & 2         

(b) 2, 3 & 4        

(c) 1, 2 & 4    

(d) 1, 2, 3 & 4    
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100- Which of the following pairs are 

correctly matched? 

1. Redness in apple : Anthocyanin 

 

2. Redness in tomato : Lycopene 

3. Yellowness in 

papaya 

: Carotene  

(a) 1 & 2         

(b) 2 & 3        

(c) 1 & 3    

(d) 1, 2 & 3    

 100- fuEufyf[kr esa ls dkSu&lk @ ls ;qXe lgh 

lqesfyr gS @ gSa \  

1. lsc esa ykfyek : ,aFkksfD;fuu 

2. VekVj esa ykfyek : ykbdksihu 

3. iihrk esa ihykiu : dSjksVhu 

(a) 1 & 2        

(b) 2 & 3        

(c) 1 & 3    

(d) 1, 2 & 3    

101- The most important aspect in Queen 

Victoria’s proclamation was-    

(a) The Governor of Bengal came to be 

called as Governor. 

(b) Provincial autonomy was accorded. 

(c) Property qualification was prescribed 

for franchise.        

(d) The administration in India was 

taken over by the Crown.      

 101- jkuh foDVksfj;k dh ?kks"k.kk esa lcls egRoiw.kZ 

igyw D;k Fkk \ 

(a) caxky ds jkT;iky dks xouZj ds :i esa 

fu;qä fd;k x;kA 

(b) çkarh; Lok;Ùkrk çnku dh xbZ FkhA 

(c) ÝSapkbth ds fy, laifÙk ;ksX;rk fu/kkZfjr dh 

xbZ FkhA 

(d) Hkkjr esa ç'kklu Økmu }kjk ys fy;k x;k 

FkkA 

102- At which Congress session did Dadabhai 

Naoroji announce that Swaraj was the 

goal of India’s political efforts ? 

(a) Calcutta Session- 1906    

(b) Benaras Session- 1905  

(c) Surat Session- 1907 

(d) Haripura Session- 1938 

 102- fdl dkaxzsl vf/kos’ku esa nknkHkkbZ ukSjksth us 

?kks"k.kk dh Fkh fd Hkkjr ds jktuhfrd ç;klksa dk 

y{; Lojkt Fkk \ 

(a) dydÙkk vf/kos’ku&1906  

(b) cukjl vf/kos’ku&1905 

(c) lwjr vf/kos’ku&1907 

(d) gfjiqjk vf/kos’ku&1938 

103- Write the Correct chronological order of 

the following-  

1. Foundation of Swaraj Party 

2. Jallianwalla Bagh Tragedy 

3. Congress-League Pact 

4. Chauri – Chaura Incident  

(a) 1, 2, 4, 3     

(b) 2, 4, 3, 1 

(c) 4, 3, 2, 1    

(d) 3, 2, 4, 1 

 103- fuEufyf[kr dks lgh dkykuqØe esa O;ofLFkr 

dhft,&  

1- Lojkt ikVhZ dh LFkkiuk 

2- tkfy;k¡okyk ckx dkaM 

3- dkaxzsl&yhx iSDV 

4- pkSjh & pkSjk ?kVuk 

(a) 1, 2, 4, 3     

(b) 2, 4, 3, 1 

(c) 4, 3, 2, 1    

(d) 3, 2, 4, 1 

104- Why did British shift the Capital from 

Calcutta to Delhi ?  

(a) It was not possible to control the 

western part of India from Calcutta 

(b) Calcutta was the main centre of 

revolutionaries. 

(c) The weather of Delhi was more 

suitable from Calcutta.        

(d) To prevent the advent of Portuguese. 

 104- vaxzstksa us D;ksa jkt/kkuh dks dydÙkk ls fnYyh 

LFkkukarfjr dj fn;k Fkk \ 

(a) dydÙkk ls Hkkjr ds if'peh fgLls dks 

fu;af=r djuk laHko ugha Fkk 

(b) dydÙkk Økafrdkfj;ksa dk eq[; dsaæ FkkA 

(c) fnYyh dk ekSle dydÙkk ls vf/kd mi;qä 

FkkA 

(d) iqrZxkyh ds vkxeu dks jksdus ds fy, 

 



 

B-36, Sector-C, Aliganj, Lucknow            Cont. Nos. 9415011892 /  8858209990                                Page 27 
 

105- The Vaikom Satyagraha in 1924 was led 

by- 

(a) Kesava Menon  

(b) Cittaranjan Das 

(c) B. R. Ambedkar  

(d) Lala Lajpat Rai 

 105- 1924 esa ok;dkse lR;kxzg dk usr̀Ro fdlus fd;k 

Fkk\ 

(a) ds’ko esuu   

(b) fprjatu nkl 

(c) ch- vkj- vkEcsMdj  

(d) ykyk yktir jk; 

106- Who was the Chairman of the first Law 

Commission ?  

(a) Metcalfe       

(b) Napier 

(c) Lord Macaulay   

(d) Charles Woods       

 106- izFke fof/k vk;ksx ds v/;{k dkSu Fksa \ 

(a) esVdkQ   

(b) usfi;j 

(c) y‚MZ eSdkys   

(d) pkYlZ oqM~l 

107- Suray Sen was associated with which of 

the event during Indian Freedom 

Struggle-  

(a) Chittagong Armoury Raid   

(b) Kakori Conspiracy Case  

(c) Kanpur Conspiracy Case  

(d) Lahore Conspiracy Case 

 107- Hkkjrh; Lora=rk laxzke ds nkSjku lw;Z lsu fdl 

?kVuk ls lEc) Fksa \ 

(a) pVxkao vkeZjh jsM ls 

(b) dkdksjh dkaM ds ekeys ls  

(c) dkuiqj dkaM ekeys ls  

(d) ykgkSj dkaM ekeys ls 

108- Which among the following lady was 

the representative of India in the 2nd 

Round Table Conference ? 

(a) Sarojini Naidu         

(b) J. P. Kripalani   

(c) Sucheta Kripalani    

(d) Lakshmi Ghosh  

 108- fuEufyf[kr esa ls fdl efgyk us nwljs xksyest 

lEesyu esa Hkkjr dk çfrfuf/kRo fd;k Fkk \ 

(a) ljksftuh uk;Mw  

(b) ts- ih- —iykuh 

(c) lqpsrk —iykuh  

(d) y{eh ?kks"k 

109- The term ‘Congress’ was derived from- 

(a) Irish History  

(b) British Commonwealth  

(c) The name of the American 

Parliament  

(d) The History of North America 

 109- 'kCn *dkaxzsl* dgk¡ ls fy;k x;k Fkk \ 

(a) vk;fj'k bfrgkl 

(b) fczfV'k jk"VªeaMy 

(c) vesfjdh laln dk uke 

(d) mÙkjh vesfjdk dk bfrgkl 

110- Which one of the following revolts is 

related with ‘Siddhu and Kanhu’ ? 

(a) Santhal rebellion    

(b) Kol uprising 

(c) Munda revolt    

(d) Revolt of Zamindars 

 110- fuEufyf[kr esa ls dkSu lk foæksg fl)w vkSj 

dkUgw ls lacaf/kr gS \ 

(a) laFkky foæksg 

(b) dksy foæksg 

(c) eqaMk foæksg 

(d) tehankjksa dk foæksg 

111- Which is/are correct with respect to the 

Act of 1935 ? 

1. It was unanimously rejected by the 

Congress. 

2. It provided for a unicameral 

legislature. 

(a) 1 only   

(b) 2 only 

(c) both 1 & 2       

(d) none of the above 

 111- 1935 ds vf/kfu;e ds lanHkZ esa D;k lgh gS@gSa\ 

1- dkaxzsl }kjk bls loZlEefr ls [kkfjt dj 

fn;k x;k FkkA 

2- blesa ,d&lnuh fo/kku lHkk dk izko/kku FkkA 

(a) dsoy 1          

(b) dsoy 2 

(c) nksuksa 1 vkSj 2       

(d) mijksä esa dksbZ ugha 
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112- Which of the following statements is / 

are not correct ?  

1. Benzene hexachloride is a non-

biodegradable pollutant. 

2. Anthropogenic air pollutants are 

natural in origin. 

3. Sulphur dioxide causes brown air 

effect during traffic congestion in cities. 

(a) only 1    

(b) only 2  

(c) only 3     

(d) 2 & 3    

 112- fuEufyf[kr esa ls dkSu lk @ls dFku lgh ugha 

gS @ gSa \ 

1- csaftu gsDlkDyksjkbM ,d xSj&ck;ksfMxzsMscy 

çnw"kd gSA 

2- ,aFkzksikstsfud ok;q çnw"kd ewyr% çk—frd gSA 

3- lYQj Mkbv‚DlkbM 'kgjksa esa ;krk;kr dh 

HkhM+ ds nkSjku Hkwjh gok ds çHkko dk dkj.k curk 

gSA 

(a) dsoy 1    

(b) dsoy 2  

(c) dsoy 3     

(d) 2 & 3    

113- Which of the following pairs are 

correctly matched ?    

Groundwater 

Pollutants 

 Effects due to 

high level of 

presence  

1. Salinity : Hyper tension  

2. Fluoride : Bone disease 

3. Arsenic : Skin damage 

(a) 1 & 2      

(b) 2 & 3       

(c) 1 & 3    

(d) 1, 2 & 3     

 113- fuEufyf[kr esa ls dkSu&lk @ ls ;qXe lgh 

lqesfyr gS @ gSa \  

Hkwty iznw”kd  mifLFkfr ds mPp Lrj 

ds dkj.k izHkko 

1. yo.krk : mPp jäpki 

2. ¶yksjkbM : gM~Mh jksx  

3. vklsZfud : Ropk {kfr 

(a) 1 & 2      

(b) 2 & 3       

(c) 1 & 3    

(d) 1, 2 & 3       

114- The temples of Orissa are based on 

which style? 

(a) Dravid      

(b) Nagara  

(c) Vesara     

(d) Mandap 

 114- mM+hlk ds eafnj fdl 'kSyh ij vk/kkfjr gSa\ 

(a) æfoM+    

(b) ukxj 

(c) oslj    

(d) eaMi 

115- Who has not been awarded the Nobel 

Prize? 

(a) C. V. Raman           

(b) H. G. Khorana 

(c) S. Chandrashekhar 

(d) Satyendra Nath Bose 

 115- fdls ukscsy iqjLdkj ls lEekfur ugha fd;k x;k 

gS\ 

(a) lh- oh- jeu 

(b) ,p- th- [kqjkuk 

(c) ,l- paæ'ks[kj 

(d) lR;saæ ukFk cksl 

116- Which of the following statements are 

correct with respect to Mughal period ? 

1. Muhammad Shah was the emperor of 

Mughal when Nadir Shah attacked 

Delhi. 

2. Babar came to India originally from 

Fergana. 

3. First Battle of Panipat (1526) was 

fought between Babar and Rana Sanga. 

(a) 1 & 3   

(b) 1 & 2 

(c) 2 & 3   

 116- eqxy dky ds laca/k esa fuEufyf[kr esa ls dkSu ls 

dFku lgh gSaa \ 

1- ukfnj 'kkg ds fnYyh vkØe.k ds le; 

eqgEen 'kkg eqxy dk lezkV FkkA   

2- ckcj ewy :i ls Hkkjr esa Qjxkuk ls vk;k 

FkkA  
3- ikuhir dk izFke ;q) ¼1526½ ckcj vkSj jk.kk 

lkaxk ds chp yM+k x;k FkkA  

(a) 1 & 3   

(b) 1 & 2 

(c) 2 & 3   
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(d) 1, 2 & 3 (d) 1, 2 & 3 

117- Arrange the following Hill Ranges from 

North to South- 

(a) Aravali, Satpura, Vindhya, Ajanta  

(b) Aravali, Vindhya, Satpura, Ajanta 

(c) Aravali, Ajanta, Vindhya, Satpura   

(d) Vindhya, Aravali, Satpura, Ajanta  

 117- fuEufyf[kr ioZrJsf.k;ksa dks mÙkj ls nf{k.k ds 

Øe esa O;ofLFkr dhft,& 

(a) vjkoyh] lriqM+k] foa/;] vtark 

(b) vjkoyh] foa/;] lriqM+k] vtark 

(c) vjkoyh] vtark] foa/;] lriqM+k 

(d) foa/;] vjkoyh] lriqM+k] vtark 

118- The Yarlung Zangbo river in India is 

known as- 

(a) Ganga   

(b) Indus 

(c) Brahmaputra  

(d) Mahanadi  

 118- Hkkjr esa ;kjyax tkaxcks unh dks fdl uke ls 

tkuk tkrk gS \  

(a) xaxk    

(b) fla/kq 

(c) czãiq=   

(d) egkunh 

119- Which one of the following states has 

largest forest cover ? 

(a) Chhattisgarh    

(b) Odisha  

(c) Maharashtra   

(d) Uttarakhand  

 119- fuEufyf[kr esa ls fdl jkT; dk oukPNkfnr {ks= 

lcls cM+k gS \  

(a) NÙkhlx<+   

(b) mM+hlk  

(c) egkjk"Vª   

(d) mÙkjk[kaM 

120- Which of the following countries does 

not have boundary with Russia ?  

(a) Norway   

(b) Latvia  

(c) Estonia    

(d) Lithuania  

 120- fuEufyf[kr esa ls fdl ns’k dh lhek :l ds 

lkFk ugha gS \  

(a) u‚osZ    

(b) ykrfo;k 

(c) ,LVksfu;k   

(d) fyFkqvkfu;k 

121- Which one of the following pairs is not 

correctly matched?  

(a) Debsa Pass      :  Himachal Pradesh  

(b) Mana Pass       :  Uttarakhand 

(c) Jelep La       :  Sikkim 

(d) Bum La Pass  :  Jammu & Kashmir 

 121- fuEu esa ls dkSu lk ;qXe lgh lqesfyr ugh gS\   

(a) nsClk njkZ : fgekpy izns’k 

(b) ekuk njkZ : mŸkjk[kaM 

(c) tsysi yk njkZ : flfDde 

(d) cqe yk njkZ : tEew ,aM d’ehj  
 

122- Which of the following pairs regarding 

U.P. Census- 2011 are correctly 

matched? 

1. Highest Sex Ratio : Jaunpur 

2. Lowest Sex Ratio : Hamirpur 

3. Population Density : 829 persons / 

sq.km. 

(a) 1 & 2           

(b) 2 &  3        

(c) 1 & 3    

(d) 1, 2 & 3    

 122- m- iz- tux.kuk&2011 ds lanHkZ esa fuEufyf[kr 

esa ls dkSu ls ;qXe lgh lqesfyr gS @ gSa \  

1. mPpre fyaxkuqikr : tkSuiqj 

2. U;wure fyaxkuqikr : gehjiqj 

3. tula[;k ?kuRo : 829 O;fä@oxZ fdeh  

(a) 1 & 2       

(b) 2 &  3        

(c) 1 & 3    

(d) 1, 2 & 3    

123- Which of the following continents is 

most urbanized? 

(a) North America  

(b) Europe   

(c) Oceania     

  123- fuEu egk}hiksa esa ls dkSu lk lcls vf/kd 

'kgjhÑr gS\ 

(a) mÙkjh vesfjdk   

(b) ;wjksi 
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(d) Latin America       (c) vksf'kfu;k    

(d) ySfVu vesfjdk 

124- Which of the following statements is / 

are correct regarding Uttar Pradesh 

Census-2011? 

1. Gautam Buddha has maximum 

literacy rate. 

2. Bahraich has lowest literacy rate. 

3. Lucknow has maximum female 

literacy rate in the state. 

   Which of the above statement/s is / are 

correct ?  

(a) 1 & 2    

(b) only 2  

(c) 2 & 3    

(d) only 1         

 124- mÙkj çns'k tux.kuk &2011 ds lanHkZ esa 

fuEufyf[kr esa ls dkSu&lk@ls dFku lgh 

gS@gaS\ 

1- xkSre cq) uxj dh lk{kjrk nj vf/kdre gSA 

2- cgjkbp esa lk{kjrk nj lcls de gSA 

3- jkT; dh vf/kdre efgyk lk{kjrk nj 

y[kuÅ esa gSA  

mijksä dFkuksa esa ls dkSu&lk @ls lgh gS @ 

gSa\ 

(a) 1 & 2    
(b) dsoy 2  
(c) 2 & 3    
(d) dsoy 1       

125- Consider the following statements 

regarding Five-Year Plans (FYP) in 

India- 

1. The Annual Plan of 1978-79 was 

launched by the Janta Government. 

2. The period from 1966 - 69 was plan 

holiday due to India's war with China 

and Pakistan. 

3. The main objective of the 12th FYP is 

'faster, more inclusive and sustainable 

growth'. 

  Which of the above statements are 

correct? 

(a) 1 & 2     

(b) 2 & 3   

(c) 1 & 3   

(d) 1, 2 & 3       

 125- Hkkjr esa iapo"khZ; ;kstuk ¼,QokbZih½ ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj djsa& 

1- 1978&79 dh okf"kZd ;kstuk turk ljdkj 

}kjk 'kq: dh xbZ FkhA 

2- phu vkSj ikfdLrku ds lkFk Hkkjr ds ;q) ds 

dkj.k 1966&69 dh le;kof/k esa ;kstuk varjky 

FkkA 

3- 12osa iapo"khZ; ;kstuk dk eq[; mís'; *rst] 

vf/kd lekos'kh vkSj lrr fodkl* gSA 

  mijksä dFkuksa esa ls dkSu ls lgh gSa \ 

(a) 1 & 2     

(b) 2 & 3    

(c) 1 & 3   

(d) 1, 2 & 3     

126- Consider the following statements - 

1. Menchal island is a part of Nicobar 

island. 

2. Rutland island is a part of Andaman 

island. 

   Which of the above statement/s is / are 

correct ? 

(a) only 1    

(b) only 2 

(c) 1 & 2    

(d) none of the above 

 126- fuEufyf[kr dFkuksa ij fopkj djsa& 

1- esapy }hi] fudksckj }hi dk ,d Hkkx gSA 

2- jVyS.M }hi] vaMeku }hi dk ,d Hkkx gSA 

 mijksä dFkuksa esa ls dkSu&lk @ls lgh gS@ 

gSa\ 

(a) dsoy 1       

(b) dsoy 2  
(c) 1 & 2       

(d) mijksä esa dksbZ ugh   

127- Consider the following statements about 

the 'Roaring Forties'- 

1. They blow uninterrupted in the 

Northern & Southern Hemispheres. 

2. They blow with great strength & 

 127- *xjtrh pkyhlk* ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft,& 

1- os fuckZ/k :i ls mŸkjh vkSj nf{k.kh xksyk/kksZa esa 

cgrh gSaA 

2- os etcwrh vkSj fLFkjrk ds lkFk cgrh gSaA 



 

B-36, Sector-C, Aliganj, Lucknow            Cont. Nos. 9415011892 /  8858209990                                Page 31 
 

constancy. 

   Which of the statement/s 

mentioned above is / are correct?  

(a) only 1                    

(b) only 2  

(c) 1 & 2              

(d) none of the above  

mijksä esa dkSu lk @ls dFku lgh gS @ gSa \ 

(a) dsoy 1              
(b) dsoy 2  
(c) 1 & 2          
(d) mijksä esa dksbZ ugh  

128- Consider the following statements- 

1. The igneous rocks are produced by 

solidification of molten magma from the 

mantle. 

2. Most of metamorphic rocks are 

composed of minerals.  

Which of the statement/s 

mentioned above is / are correct?  

(a) only 1                    

(b) only 2  

(c) 1 & 2              

(d) none of the above 

 128- fuEufyf[kr dFkuksa ij fopkj dhft,& 

1- vkXus; pêku] eSaVy ls fudys eSXek ds teus 

ls fufeZr gksrs gSA  

2- vf/kdka'k :ikUrfjr pÍku [kfutksa ls fufeZr 

gksrs gSaA 

mijksä esa dkSu lk @ls dFku lgh gS @ gSa \ 

(a) dsoy 1              
(b) dsoy 2  
(c) 1 & 2          
(d) mijksä esa dksbZ ugh 

129- The tropic of cancer does not passes 

through- 

(a) Gujarat   

(b) Mizoram  

(c) Assam    

(d) Tripura  

 129- ddZ js[kk fuEu esa dgk¡ ls gksdj ugh xqtjrh gS\  

(a) xqtjkr   

(b) fetksje  

(c) vle    

(d) f=iqjk   

130- Which one of the following does not 

touch Panama ?  

(a) Costa Rica    

(b) Pacific Ocean  

(c) Colombia     

(d) Venezuela 

 130- fuEufyf[kr esa ls dkSu iukek dks Li'kZ ugha 

djrh\   

(a) dksLVk fjdk    

(b) iz'kkar egklkxj 

(c) dksyfEc;k    

(d) osustq,yk  

131- Which of the following pairs is / are 

correctly matched ?  

 National Park / 

Wildlife Sanctuary   

: States 

1. Tadoba National 

Park 

: Maharashtra 

2. Orang National Park : Assam 

3. Gandhi Sagar 

Sanctuary 

: Bihar 

(a) 1 & 2      

(b) 2 & 3       

(c) 1 & 3    

(d) All of the above        

 131- fuEufyf[kr esa ls dkSu&lk @ ls ;qXe lgh 

lqesfyr gS @ gSa \  

 jk"Vªh; m|ku @ oU; 

tho vHk;kj.; 

: jkT; 

1. VkMksck jk"Vªh; m|ku : egkjk"Vª 

2. vksjkax jk"Vªh; m|ku  : vle  

3. xka/kh lkxj vHk;kj.; : fcgkj  

(a) 1 & 2      

(b) 2 & 3       

(c) 1 & 3    
(d) mijksä lHkh  

132- Which of the following statement is / are 

not correct ?  

1. LPG gas is a mixture of butane & 

propane. 

2. Radium is used as moderator in 

 

 

 

132- fuEufyf[kr esa ls dkSu&lk@ls dFku lgh ugha 

gS@gSa \ 

1- ,yihth xSl C;wVsu vkSj çksisu dk feJ.k gSA 

2- jsfM;e dk mi;ksx ijek.kq fj,DVjksa esa eand 
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nuclear reactors. 

3. Electric bulb filament is made of 

tungsten. 

(a) only 3   

(b) only 2 

(c) only 1    

(d) 2 & 3  

ds :i fd;k tkrk gSA 

3- bysfDVªd cYc fQykesaV VaxLVu ls cuk gksrk 

gSA 

(a) dsoy 3   

(b) dsoy 2 

(c) dsoy 1   

(d) 2 & 3 

133- Fruits stored in a cold chamber exhibit 

longer storage life because- 

(a) Exposure to sunlight is prevented 

(b) Concentration of carbon dioxide in 

the environment is increased       

(c) rate of respiration is decreased 

(d) There is an increase in humidity. 

 133- ,d BaMs d{k esa j[ks Qyksa dk HkaMkj.k dky yacs 

le; rd gksrk gSa] D;ksafd& 

(a) lw;Z ds çdk'k dh igq¡p :d tkrh gSA  

(b) i;kZoj.k esa dkcZu Mkbv‚DlkbM dh lkUnzrk 

c<+ tkrh gS 

(c) 'olu dh nj esa deh vk tkrh gSA 

(d) vknZzrk esa òf) gks tkrh gSA  
134- Which of the following pairs is / are 

correctly matched ?  

 Book : Writer 

1. Akbarnama : Abul Fazal 

2. Humayun-nama. : Gulbadan 

Begam 

3. Tabaqat-i-Akbari : Nizamuddin 

Ahmad 

(a) 1 & 2     

(b) 2 & 3  

(c) 1 & 3    

(d) 1, 2 & 3  

 134- fuEufyf[kr esa ls dkSu&lk @ ls ;qXe lgh 

lqesfyr gS @ gSa \  

 iqLrd  : ys[kd  

1. vdcjukek : vcqy Qty 

2. gqek;q¡ukek : xqycnu csxe  

3. rckdr&,&vdcjh  : fut+keqÌhu vgen  

(a) 1 & 2     

(b) 2 & 3  

(c) 1 & 3    

(d) 1, 2 & 3 

135- Consider the following statements- 

1. The subsidiary alliance was adopted 

by Lord Wellesley. 

2. The Suppression of Pindaris was done 

by Lord Hastings   

3. Permanent Settlement was introduced 

by Robert Clive.  

   Which of the statement/s 

mentioned above is / are  correct ?  

(a) 1 & 2    

(b) 2 & 3   

(c) 1 & 3     

(d) 1, 2 & 3  

 135- fuEufyf[kr dFkuksa ij fopkj dhft,& 

1- lgk;d laf/k y‚MZ osysLys }kjk viuk;k x;k 

FkkA 

2- fiaMkfj;ksa dk neu y‚MZ gsfLVaXl }kjk fd;k 

x;k Fkk 

3- j‚cVZ Dykbo }kjk LFkk;h cankscLr dh 

'kq:vkr dh x;h FkhA  

mijksä esa dkSu lk @ls dFku lgh gS @ gSa \ 

(a) 1 & 2    

(b) 2 & 3   

(c) 1 & 3     

(d) 1, 2 & 3 

136- The medieval Hindu ruler who was a 

contemporary of Akbar, and took the 

title of Vikramaditya was- 

(a) Rana Pratap (of Mewar) 

(b) Sadasiva Raya (of Vijayanagar) 

(c) Raja Man Singh (of Amer) 

(d) Hemachandra (Hemu) 

 136- e/;dkyhu fganw 'kkld] tks vdcj dk 

ledkyhu Fkk] vkSj foØekfnR; mikf/k /kkj.k 

fd;k Fkk& 

(a) jk.kk çrki ¼esokM+½ 

(b) lnkf'ko jk; ¼fot;uxj ½ 

(c) jktk eku flag ¼vkesj½ 

(d) gsepaæ ¼gsew½ 
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137- Chlorophyll contains- 

(a) Iron     

(b) copper 

(c) magnesium   

(d) manganese  

 137- DyksjksfQy esa gksrk gS & 

(a) yksgk     

(b) rkack 
(c) eSXuhf'k;e    

(d) eSaxuht 

138- Which of the following pairs is / are 

correctly matched ?  

 Mining area : Minerals 

1. Talchar : coal 

2. Jaduguda : uranium 

3. Zavar : iron ore 

(a) 1 & 2      

(b) only 2    

(c) 1 & 3    

(d) 1, 2 & 3 

 138- fuEu esa dkSu lk ;qXe lgh lqesfyr gS\  

 [kuu {ks=  [kfut  

1. rkypj : dks;yk 
2. tknqxqM+k : ;wjsfu;e 
3. t+okj : ykSg v;Ld 

(a) 1 & 2      
(b) dsoy 2    
(c) 1 & 3    

(d) 1, 2 & 3 

139- Two major crops introduced in India 

during the Mughal period were-  

(a) Millet and Groundnut 

(b) Potato and Mustard 

(c) Tobacco and Maize 

(d) Indigo and Maize 

 139- eqxy dky ds nkSjku Hkkjr esa 'kq: dh xbZ nks 

çeq[k Qlysa Fkh & 

(a) cktjk vkSj ewaxQyh 

(b) vkyw vkSj ljlksa 

(c) rackdw vkSj eDdk 

(d) uhy vkSj eDdk 

140- The Estimation of National Income is 

based on the following methods- 

(a) Income Method       

(b) Output Method 

(c) Expenditure Method  

(d) All of the above 

 140- jk”Vªh; vk; dk vkdyu fdl fof/k ij vk/kkfjr 

gS& 

(a) vk; fof/k    
(b) fuxZr fof/k  
(c) O;; fof/k     
(d) mijksä lHkh 

141- Consumer Price Index (CPI) includes- 

1. Agriculture Labourers 

2. Industrial Workers 

3. Rural Labourers 

4. Urban Non-manual employees  

(a) 1 & 2           

(b) 1, 2 &  3        

(c) 1, 3 & 4    

(d) all of the above 

 141- miHkksäk ewY; lwpdkad ¼lhihvkbZ½ esa 'kkfey gSa& 

1- —f"k etnwj  

2- vkS|ksfxd Jfed 

3- xzkeh.k Jfed  

4- 'kgjh xSj&eSU;qvy deZpkjh 

(a) 1 vkSj 2    

(b) 1] 2 vkSj 3 

(c) 1] 3 vkSj 4    

(d) mi;qZä lHkh 

142- What is the name of a submarine ridge 

found in the Way of Bengal ? 

(a) 900 East Ridge          

(b) 900 West Ridge 

(c) Diego Gorcia Ridge   

(d) 900 South Ridge   

 142- caxky dh [kkM+h esa ik;k tkus okyk 

var%egklkxjh; dVd dk uke D;k gS\ 

(a) 90
0
 iwoZ fjt   

(b) 90
0
 if'pe fjt 

(c) fM,xks xksfj;k fjt  

(d) 90
0
 nf{k.k fjt 
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143- Which of the following pairs is / are 

correctly matched ?  

 Articles  Articles 
1. Article 155 : Appointment of 

governor  

2. Article 110 : Definition of Money 

Bills 

3. Article 312 : All India Services 

4. Article 165 : Abolition or creation 

of legislative councils 

in states 

(a) only 1       

(b) 2 & 3       

(c) 1 & 4    

(d) 1, 2 & 3        

 143- fuEufyf[kr esa ls dkSu&lk @ ls ;qXe lgh 

lqesfyr gS @ gSa \  

 vuqPNsn : lEc) 

1. vuqPNsn 155 : jkT;iky dh fu;qfä 

2. vuqPNsn 110 : /ku fo/ks;d dh ifjHkk"kk 

3. vuqPNsn 312 : vf[ky Hkkjrh; lsok,¡ 

4. vuqPNsn 165 : jkT;ksa esa fo/kk;h ifj"knksa 

dk mUewyu ;k xBu 

(a) dsoy 1     
(b) 2 & 3       

(c) 1 & 4    

(d) 1, 2 & 3         

144- Which one of the following pairs is not 

correctly matched?  

(a) Pradhan Mantri Gram 

Sinchai Yojana (PMGS) 

: 2015  

(b) Soil Health Card  Scheme : 2015 

(c) Shyama Prasad Mukherji 

Rurban Mission 

: 2016 

(d) Pradan Mantri Fasal Bima 

Yojana (PMFBY) 

: 2015 

 

 144- fuEufyf[kr esa ls dkSu&lk @ ls ;qXe lgh 

lqesfyr ugha gS @ gSa \  

(a) ç/kku ea=h xzke flapkbZa ;kstuk 

¼ih,eth,l½ 

: 2015 

(b) e`nk LokLF; dkMZ ;kstuk : 2015 

(c) ';kek çlkn eq[kthZ jcZu fe'ku : 2016 

(d) ç/kku ea=h Qly chek ;kstuk 

¼ih,e,QchokbZ½ 

: 2015 

 

145- Which of the following is known as 

'Oxygenated Water'? 

(a) Hydrogen Peroxide (H2O2) 

(b) Heavy Water (D2O) 

(c) Water (H2O)   

(d) None of the above 

 145- fuEu esa ls fdls *v‚DlhtusVsM okVj* ds uke ls 

tkuk tkrk gS\ 

(a) gkbMªkstu isjksDlkbM (H2O2)  
(b) Hkkjh ikuh (D2O) 

(c) ty (H2O)  
(d) mijksä esa dksbZ ugha 

146- Which of the following pair is wrongly 

matched?  

(a) Calciferol  : Osteomalacia 

(b) Niacin : Pellagra  

(c) Cobalamin : Anemia 

(d) Riboflavin : Beri-Beri 
 

 146- fuEufyf[kr esa ls dkSu lk ;qXe xyr lqesfyr 

gS\   

(a) dSfYlQsjkWy : vfLFke`nqrk 

(b) fu;kflu : isykxzk 

(c) dksckykfeu : jäkYirk 

(d) fjcks¶ysfou : csjh&csjh 
 

147- Consider the following statements- 

1. Polycarbonate is widely used for 

making bullet proof material. 

2. Sodium thiosulfate is used as a fixer 

in photography.  

3. ‘Yellow Cake’ is a crude form of 

Cocaine.  

Which of the above statement/s is/are 

correct ? 

(a) only 2    

(b) 1 & 2  

(c) 1 & 3         

 147- fuEufyf[kr dFkuks ij fopkj dhft,& 

1- i‚yh dkcksZusV dk mi;ksx O;kid :i ls 

cqysV çwQ lkexzh cukus ds fy, fd;k tkrk gSA 

2- lksfM;e fFk;kslYQsV dk mi;ksx QksVksxzkQh esa 

fQDlj ds :i esa fd;k tkrk gSA 

3- *ihyk dsd* dksdhu dk ,d dPpk :i gSA 

mijksä esa ls dkSu&lk@ls dFku lgh gS@gSa \   

(a) dsoy 2   

(b) 2 & 3  

(c) 1 & 3         

(d) 1, 2 & 3  
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(d) 1, 2 & 3  

148- The application of biotechnology to 

make industrial processes more efficient 

is called- 

(a) Green Biotechnology 

(b) Blue Biotechnology 

(c) White Biotechnology 

(d) Red Biotechnology 

 148- vkS|ksfxd çfØ;kvksa dks vkSj vf/kd dq'ky cukus 

ds fy, tSo çkS|ksfxdh dk mi;ksx D;k dgykrk 

gS \ 

(a) xzhu tSo izkS|ksfxdh  

(b) Cyw tSo izkS|ksfxdh 

(c) OgkbV tSo izkS|ksfxdh 

(d) yky tSo izkS|ksfxdh 

149- Match List-I with List-II and select the 

correct answer from the codes given 

below- 

List- I  List- II  

A. Plague 1. Protozoa  

B. AIDS 2. Fungi 

C. Baldness 3. Bacteria 

D. Malaria 4. Virus  

Codes- 

 A B C D 

(a) 1 2 3 4 

(b) 1 2 4 3 

(c) 3 4 2 1 

(d) 2 1 3 4 
 

 149- lwph&1 dks lwph&2 ls lqesfyr dhft, rFkk uhps 

fn;s x;s dwVksa ls lgh mŸkj pqfu,&- 

lwph&1 lwph&2 
A. Iysx 1. izksVkstksvk 
B. ,M~l 2. dod 
C. xatkiu 3. thok.kq 
D. eysfj;k 4. fo"kk.kq 

dwV- 
(a) 1 2 3 4 

(b) 1 2 4 3 

(c) 3 4 2 1 

(d) 2 1 3 4 
 

150- Which one of the following pairs is not 

correctly matched?  

(a) Arthritis  : Uric Acid 

(b) Vinegar : Acetic Acid 

(c) Enzyme helps in 

digestion of protein 

: Trypsin 

(d) Fatigue : Benzoic 

Acid  
 

 150- fuEufyf[kr esa ls dkSu ls ;qXe lgh lqesfyr ugha 

gSa\  

(a) xfB;k : ;wfjd ,flM 

(b) fljdk : ,flfVd ,flM 

(c) ,atkbe çksVhu ds 

ikpu esa lgk;d  

: fVªfIlu 

(d) Fkdku : csUtksbd ,flM 
 

 

 

**** 
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Place for Rough Work 

                थ   


